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M.A. 1st Semester
ATKT Examination, March-April 2021

ECONOMICS
Paper - III

Quantitative Methods

Time : Three Hours] [Maximum Marks : 80
[Minimum Pass Marks : 16
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Note : Answer all questions. All questions carry equal
marks.
ZehTE / Unit-1
1. = wH&l ¥ 9=l & foudar Tuie d@
hITSTT

ek |5-15[15-25|25-35|35-45[45-55[55-65

g | 5 | 15 | 35 | 55 | 25 | 15
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(2)

Find out Bowley’s coefficient of skewness
from the following data :

Marks 5-15(15-25[25-35]|35-45(45-55(55-65
Frequency| 5 | 15 | 35 55 125 | 15

34T / OR
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qfd ol 31

(o9 o) 23|27 [28]28129|30(31|33|35(36
Tt ot 3

(o9 o) 18]20122(27[21(29]27(29] 28|29

Calculate Karl Pearson’s coefficient of
correlation from the following data:

Age of Husband
(inyears)  [23[27(28]28|29(30|31|33|35|36

Age of Wife
(in years) 18[20(22(27]21|29]27]29(28|29

g9 1994 & faq fospl &1 ITAM @EU|

EL| 1992 | 1993 | 1994 | 1995

foshl (T AM@H)| 23.4 | 24.2 ? 28.3
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(3)

The annual sales of a company are given
below. Estimate the Sales for the year 1994.

Year 1992 (1993 | 1994 | 1995
Sales (in¥ Lakh) | 23.4 [242 | 2 [28.3
3794 / OR
T a9 fifeea oo ma guc:

g X | HOm Y
TR HeA 2.463 2.797
gAY fo=re™ 0.326 0.207
X 3R Y & &9 r= +0.774
EICREIISLE

() THFl FATEEA FHHI

(i) X S AIAMG ged AC Y= 2.334 Tl
(i) Y 1 SAIAIG Hea AfC X = 3.052 Bl
A study revealed the following results :

Series X | Series Y

Arithmetic Mean 2.463 2.797
Standard Deviation 0.326 0.207
r between X and Y=+ 0.774

Find Out :

(i) Two regression equations
(if) The estimated value of X when Y=2.334
(iii) The estimated value of ¥ when X =3.052
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B8 / Unit-111
3. 9 wmRit so0 =Afedl H O WieRar  qen
JUSTT ¥ grIfed § 1 399 379 TRl
q SSATRY H I Rl TU-HEY T[0T
I hifslw dogr 39 freed feeifae
fRER SUSTR 220
TR TSR AT 20

fReR U 9T 180

The following data relate to literacy and
unemployment in a group of 500 persons. You
are required to calculate Yule’s coefficient of
association between literacy and
unemployment. Interpret it :

[lliterate unemployment 220

Literate employed 20
[lliterate employed 180
379dr / OR

frefafad ool @1 g =i

(@) If A1 I T H H TH 9 IQgfooh
®q § frpren S ®, @ o wifasar @
& ag ‘fagt &1 s\ A ‘ST W
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DRG_142 (7) (Continued)



(3)

(b) TH I H 8 WHS, 6 A, 4 TU IR
2 dieft WS ¥ T Wiew § uwm et
I TH BTO AT TH Ui g FHpem
H T R §?

Solve the following problems :

(a) 1If a card is drawn at random from a pack
of cards, what is the probability that it
will a ‘Queen of Clubs’ or a ‘King of
Diamonds’ ?

(b) A bag contains 8 white, 6 black, 4
green and 2 yellow balls. What is the
probability of drawing one black or one
green or one yellow ball in a single

trial ?

g8 / Unit-IV

4. Trefafed sl ¥ TR &1 *iHd gohich
qiiehfeld  ohifSId
YR I EREIE L

Cp| - -

SHd | AT | wEa | @En
A 32 50 30 50
B 30 35 25 40
C 16 55 18 50
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(6)

Calculate Fisher’s price index from the

following data :

Base Year Current Year

Commodity Price | Quantity | Price | Quantity
A 32 50 30 50
B 30 35 25 40
C 16 55 18 50

37dr / OR

HA FUT F BT €2 Tk HA JUT
fafi Teesl o1 dfsra O gusETd

What is a Time Series ? Explain briefly the

different components of a time series.

B8 / Unit-V

5. Thed 9 379 R §HEd © 2 Tl o fafd=

YRRl hi SHRSAT iU |

What do you understand by function ? Discuss

the various types of function.

37gdr / OR
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(7)

gfc frdt IAcw ®H A FA AFG T
freER ©

TC =0.003 q° — 0.05 g% + 7q + 10000

T‘ﬁﬂﬁaﬂﬁl@:

() T H 100 THE &k SAGRT Dl FdA
INTd

(i) HHM AR
(iif) 100 SehTS T ICUTCA B W HH AN

If the total cost function of a producing Firm
is as follows :

TC =0.003 q° — 0.05 g% + 7q + 10000
Then find out:
(/) Total cost of producing 100 units
(if) Marginal cost

(iii) Marginal cost when 100 units are
produced
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